W09 NOYSOBYM} MMM

Model

Kb

05

06
R :IREF 751 ue
10

B 5%

SRS HEH 75 6

c

04
L :#EsEtsE @uc

c

T o 3% KRR

ES NN L)

SR

FETBE 71 (e BB A7 MPaB) kN 3.5 4.9 7.2 9.4
MELRE mm 31 37 44 51
EHFE mm 18 22 25 30
ETE (R E) ont 5.00 6.95 103 13.4
HEARE 90° +3
BB ERE +1°
FEEEEGHE 405
21712 CTMO-OIT mm 12 13 14 15.5
90 ° HEITIE mm 6.5 7.5 8.5 10
KR mm 5 6 5 5
@FEEFTAZ(CTML-LIT) mm 0.5 0.5 0.5 0.5
HELE B (CTMO-CIT) 3 om® 6.0 9.0 14.4 20.7
TR cm?® 9.1 14.0 213 317
i CTMO-OT kg 0.9 1.2 1.8 27
BE5%12.9) N-m 7 7 12 12
EE N'm 35 60 100 155

® & iBEEE:1.5~7MPa

@R E:10.5MP

O RRHIEABROBETRAUMER.

69

® ERRIEA/0~70C

O RS T R b R B (R F1S0-VG32)

M e LRI B 5T

SEHREED G1/8

) )

D
A\
RO G1
3 o
: , }
R R R R TSR, b
WA EILGEETET 5 ) 7T ER(IEE £ 77 8
Y]
2‘ ¢
2
BE110
st )
4-0X oH = 7 ‘
sRmEnan ||
Wi, 5
&
4 3 4 |4
N 3
- ‘ El
OREFB_~"4. 0w
-1 2-OFMFA
-3 ¥
ARREAD <|
)
OFEFC
mREEAD
(5 ‘ 066 BT oo
L fTigsem
66
TS
TR 1TREAR IR
2-RREEHED e HAREED s
Msxo0ssmEs [ 2NE B
5 & 6 of
o TRRBEAABRE
b

P.c.D.z2 A+

o
+ SRR IE O

R3

70

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model CTM He#f=t iRl Bk 5288

MIREILES,
MBS

SUBALEEO Min. 04

oA gy 300 (i)
oG H8 \ N
=4 BT ()
i R IE
Re6.3 /|
30° o
— | 9
%) hERPE
£
of | o]
S =
A .
S ., RO
ARk - WEMTEE
&
RIEARIED 04065
)
RO X RN
Ewsras e
EILRRE XX # HREEOENE TSR,

Min. K.

EILREEF X-X

2-Max. of

mm
CTMO04-JT CTMO05-JT CTM10-JT
1135 1205 146
45 51 60 70
54 61 69 81
315 355 39 46
225 255 30 35
34 40 47 55
40 358 48 56 55 560 65 350
0GG 39.7 476 54.6 64.6
oH 18 22 25 30
J 65.5 74.5 81.5 88
K 48 46 53 58
KK 415 375 44 46.5
L 25 28 30 31
M 13.5 14.5 15.5 17
N 27 32 36 40
P 8 9 10 1
R1 12.5 14 13.5 14
R2 18 22 24 30
R3 26 30 33.5 39.5
S (BBHEE ) 24 30 32 41
T (RAAIL) 6 8 8 10
u M16x 1.5 M20x 1.5 M22x 1.5 M27x 1.5
v 15 17.5 17 17
oW 5.5 5.5 6.8 6.8
w1 M6x 1 M6 1 M8x 1.25 M8x 1.25
o X 9 9 1 1
oY 73 83 88 106
z c3 c3 c3 c4
z1 12° 15° 15° 15°
72 22 27 33 38
0 AA ( SHIBTE) 4 5 6 6
AB 7 9 10 12.5
AC 18.5 215 24.5 27.5
s 04(h8)x 10 05(h8)x 12 06(h8)x 14 06(h8)x 16
OFEFA ( FIRHE HEAE Hs0 ) P5 P5 P5 P7
OFZEIFB ( AR BERE Hs70) 38X1.5 (IR X 4B ) AS568-031 AS568-034 AS568-037
OFEFC ( HiRA BEE Hs70) AS568-028 AS568-031 AS568-033 AS568-036

CTM04-1T
oA 40.8 49 56 66
B 34 40 47 55
c M5 M5 M6 M6
D 18 22 24 30
E 26 30 335 39.5
oF 3 3 3 5
0G 409" 489" 550" 650"
H 24.5 20 26.5 29
HH 25.2 20.9 27.4 29.9
J 48.5 46.5 53.5 58.5
K 415 375 44 46.5
L 1.2 1.5 1.5 1.5
oM 40.6 48.6 55.6 65.6
N 29 25 31.5 34

71

72

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model CTM jEsztigiflBuse5e

05
CTH — Ms &RE
06

CTH04-MS

CTMo04-[]

B

N_#&110

CTHOo!
CTMo6-[]

0B 20 25 28 34
c 16 19 22 25
REBREILN
RHHREE.
A
08'3"
%G0.05
‘ XoF H8
> w
2, *
b °
x X 2
EALSAE
oAHS
XX
A E AL SHES T N LR (L8 (E, oF, G)
(RSB ELENRRERESE. )
(mm)
CTHO04-MS CTHO05-MS THO S TH10-MS

CTMO04-[] CTMO5-[] CTMO06-[]
oA 20 % 254" 284" 3475
0B 17 21 235 29
c 19 23 26 29
D 16 19 22 25
3 105 125 145 165
oF (BHITE) 47" 5% 65" 63"
G 9 1.5 13 15.5

73

Model CLU

EFRRER

ma CLU

IR BENK. WA

DK @ REERESE @ HIHRHER
02
L: %8 . fe) )
o %M LR FER RAR P
06 i
cLU b % % % E R
16 R: &M Kb A RUBHRIRS RS
2
Cl LU04 | CLUO6 cLu10 CLU16 LU25
SHELHES) (57 MPaBF) kN 3.4 5.0 6.7 10.6 17.2 26.9
RS (HEE7 MPals) kN 2.6 3.5 4.4 7.3 12.1 18.2
BAERBEBRAE(LH) mm 36.5 42 50 56.5 69.5 875
SELRE mm 25 30 35 44 56 70
R mm 12 14 14 16 22.4 28
METEH (3R ) cm 4.9 7.1 9.6 15.2 24.6 385
21712 mm 205 235 26 29.5 36 45
TR mm 17.5 205 23 265 33 42
TIERE mm 3 3 3 3 3 3
BARE L/min 1.0 1.6 2.6 4.7 9.5 18.9
ET om’ 10.0 16.7 25.0 44.8 88.6 173.3
HERE
B cm’ 7.7 13.0 21.0 38.9 745 145.5
HE kg 0.7 1.0 1.4 2.3 4.0 7.4
BWESE12.9) N'm 7 7 " 25 50 53
fEMMEFE: 1~7Mpa {REHE:10.5Mpa ERRFRE0~70C (MR EEWHERMA(1AE FI1SO-vG32)
74

W02 NOYSORYMI MMM




